B 15
AN 3 EERBSHT —fl 2 IR PR G H R OV T
HEJT EIVRIEIET 4 (V0 22 EBOHT 16 ) 45 146 2600 2 OBUEIC £ 0 | BN & 3
Y MR MR R 2 I LT 0GR 5
41446 A 2 B

KEEHTR W A



RN 3L RRRIT RN B B MR G O
— B
BUERE FE D FFIRNER
#* 15 £ =24 ok | BEACA AU E R .
i BERE | EER A | RXHe Hi 7 15 Z oft Ak
3 1 M M M M M M M
P £ B BIERRAL 5 63 B i
AR (Mt bR | g man o ao g 406, 276,000 | 161, 766, 290 0 |161, 766, 290 0 0 0
PR . ek
3 2
BAYE |REGFEWE [BGREFEL 7T o F3E 2,212, 000 1, 985, 096 321,096 | 1,664,000 0 0 0
TSR | 75 C B
> . 2= % 3 YA
g;g%%> R OGRS 9,019, 000 7,145, 180 50,000 | 7,095, 180 0 0 0
PR | TE TR
e S T A o S A
g;g%7fﬁiﬁ?ﬁmﬁ#¢§%Jﬁ”ffﬂi#”ff 1,505, 000 1,505, 000 0| 1,505,000 0 0 0
TR | 75 C B
4 1
e |(REAAL (R ESTE R 3 1, 980, 000 1, 980, 000 0 0 0 0 1, 980, 000
PR AR i
R aaF A NVAT TR
HTE (2002) 210, 479, 000 | 120, 829, 095 0 |120, 828, 880 0 0 215
PR = A — R
10 2
HEHE |INERE |FERGEEEE 3, 600, 000 3, 600, 000 0| 3,600,000 0 0 0
PR RHET
3
R | SAREE 3, 600, 000 3, 600, 000 0| 3,600,000 0 0 0
FE T PR




